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Received February 9, 2007  Regarding section 6.8a.12.1(draft 7)
Hi all,

Could you clarify the pulse duration given in 6.8a.11.1, Draft 5.

Is it defined on the half of pulse amplitude or as width of the main lobe

(from zero to zero)?

In the same part, in the mathematical description (formula), right medium

bracket is misplaced should be before the plus sign in the nominator.

Thank you.

Regards,

Dusan Radovic

TES Electronic Solutions

Stuttgart

Germany

Response

The above raise two issues firstly there is an error in equation for the reference pulse ,r(t), in section 6.8a.12.1(draft 7) it should be :
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Secondly the requestor asks for a clarification of the pulse width parameter, Tp. According to the corrected equation for r(t) above the parameter Tp is the half pulse amplitude point.  So for example if Tp = 2 ns then r(-1) = r(1) = r(0)/2.
===================================================================

The remainder of this document is a copy of email received via the 4a reflector regarding the current draft of the 802.15.4a draft amendment.  The following material needs to be edited into a more accessible/readable format such as the material above.
From:
Zafer Sahinoglu [sahinoglu@gmail.com]

Sent:
Thursday, March 01, 2007 4:36 PM

To:
Vern Brethour

Cc:
Michael Mc Laughlin; Jay Bain; Pat Kinney; Philip Orlik; John Lampe; Benjamin A. Rolfe

Subject:
Re: The broken equation for C5 in clause 6.8a.7.2

Dear Vern,

My concern is that if we have a running errata that gets longer every so

often, it might discourage implementers. Furthermore,  people will

continously feel skeptical about the spec.

My suggestion is to scrutinize the spec for errors really deep for once, and

then craft a single version errata.

best

ZS

On 3/1/07, Vern Brethour <vern.brethour@timedomain.com> wrote:

>

>  Wow Michael,

>

>

>

> Referring to me as an "expert" in your discussion below was an exceptional

> act of kindness.  I'll remain grateful forever (or, at least as long as I

> live).  A less flattering & more realistic assessment is that I screwed up

> the radio.

>

>

>

> The issue now is that the fix to the equation for C5 is no way going to be

> accepted by Michelle as an "editorial" change.

>

>

>

> The standard is (for sure) going to get published with the wrong equation

> for C5 & that's unfortunate.  It leaves implementers with the choice of

> implementing the standard as published, or the standard as it should be.

> Kind of makes the standard get non-standard in a hurry.

>

>

>

> The best strategy I can think of:  We do some kind of a running "errata"

> document (like we were bantering about in previous e-mail) for collecting

> this stuff.  My fear is that there will be even more errata when the first

> person tries to de-bug a matlab simulator of the system.   So if anyone ever

> implements "it", their implemented "standard" will be known as "802.15.4a

> *with* 15-07-0666-*25*-004a" & they will call that standard "R-25".  My

> conscience would be relatively clear if there is some way we can alert any

> individual doing a download to periodically check the errata document every

> time someone downloads the standard.  If the errata document is some thing

> maintained by the "insiders" for our own amusement and we are the only ones

> that know about it…. That would be really bad.

>

>

>

> Vern

>

>

>  ------------------------------

>

> *From:* Michael Mc Laughlin [mailto:michael@decawave.com]

> *Sent:* Thursday, March 01, 2007 3:06 PM

> *To:* Vern Brethour

> *Subject:* Re: [Fwd: [802.15.4A] D6 Annex M possible mistake]

>

>

>

> Vern,

>

> It's not that messy, it's only in one place in the draft, so:

>

> There is an error in paragraph *6.8a.7.2*

>

> Where it reads:

> *

> C5 = XOR(R0, R1, L5, L6, C3, C4)

>

> *it should read

>

> *C5 = XOR(R1, R0, L6, L5, L4, L3, L2, L1, L0, RNG, EXT, P1, P0,  C4, C3,

> C2, C1, C0)

>

> *Fortunately you kept pushing for Annex M. Considering it took us two

> "experts" more than 2 weeks, between phone calls, emails and analysis, to

> figure out which was right, I think it would have been a long time before

> someone else would have spotted it.

>

> This also gets us out of the problem where the receiver, unwittingly,

> repeats the shorthand operation for calculating C5 that the transmitter

> used.

>

> Michael

>

>

> Vern Brethour wrote:

>

> Yes Michael,

>

>

>

> You are right.  Thanks for your tenacity.

>

>

>

> The Hamming book actually does the codes twice: once in chapter 3 and

> again in chapter 11.  The chapter 3 treatment was what I was looking at

> originally and I got it wrong.  The chapter 11 material that I just now

> studied (for the first time) makes it clear that the last check bit covers

> the whole message including the other check bits.

>

>

>

> That's a messy mistake to fix.

>

>

>

> Vern

>

>

>

>

>

>

>  ------------------------------

>

> *From:* Michael Mc Laughlin [mailto:michael@decawave.com<michael@decawave.com>]

>

> *Sent:* Wednesday, February 28, 2007 5:49 PM

> *To:* Vern Brethour

> *Subject:* Re: [Fwd: [802.15.4A] D6 Annex M possible mistake]

>

>

>

> Vern,

>

> Are you absolutely sure that the Hamming book doesn't check the parity of

> the Check bits? If you look at slide 7 of your presentation, it says that

> when C0 is in Error, i.e. C0=1 in the syndrome, then C5 will also be 1  in

> the Syndrome. But how is that so if C0 is not part of the parity for C5?

>

> Michael

>

>

> Michael Mc Laughlin wrote:

>

> Vern.

>

> Sorry for not replying earlier, I was away for a weeks holidays last week.

>

> Take a look here. They say that all the bits, including parity should be

> included.

>

>

> http://en.wikipedia.org/wiki/Hamming_code#Hamming_codes_with_additional_parity

>

> In, your example. if there was an error in Pr0. Then C4 and C0 would point

> to it being wrong as would C5, which would be wrong also.

>

> But if on the ohter hand both C4 and C0 were flipped then C5 not being

> wrong would point to a multi-bit error, if you don't include C4 and C0, you

> mistakenly think that Pr0 is wrong.

>

> Michael

>

> Vern Brethour wrote:

>

>

>

> Hi Michael,

>

>

>

> The equation for C5 is correct in section 6.8a.7.2.  It is ONLY the XOR of

> the *NON*_SECDED bits.  It has to be that way.  If the checksum bits are

> also included, then errors start un-doing the detection patterns because

> they get counted once for themselves and then more times when they are

> included in the other checksums.  When I went back to 06-0494r1 from Dallas,

> as a vehicle to explain this, I discovered more typos that I hadn't seen

> before.  So I fixed them and put in some more comments and put it on the

> IEEE server as 0494r2.  If you look at slide 7 and notice what happens if C4

> is included in the terms for C5…..  If there is an error in Pr0, then C4 &

> C0 will be wrong, but C5 would not and it would look like a multi-bit error.

>

>

>

> Vern

>  ------------------------------

>

> *From:* Michael Mc Laughlin [mailto:michael@decawave.com<michael@decawave.com>]

>

> *Sent:* Wednesday, February 14, 2007 4:30 PM

> *To:* Vern Brethour

> *Subject:* [Fwd: [802.15.4A] D6 Annex M possible mistake]

>

>

>

>

>

> Vern,

>

> I've checked this out and there certainly is a discrepancy between my

> Annex M and the Formulas.

>

> I looked back at my notes and here are my thoughts :

>

> The transmit order of the bits is:

>

> R1 R0 L6 L5 L4 L3 L2 L1 L0 Rng Ext Pr1 Pr0 C5 C4 C3 C2 C1 C0

>

> BUT the logical order for SECDED is

>

> C0 C1 R1 C2 R0 L6 L5 C3 L4 L3 L2 L1 L0 Rng Ext C4 Pr1 Pr0 C5

>

> My understanding when I did the annex was that C1 to C4 were as show in

> the standard i.e.

>

> C0 = XOR ( Rt1, Rt0, L5, L4, L2, L0, Ext, Pr1 )

> C1 = XOR ( Rt1, L6, L5, L3, L2, Rng, Ext, Pr0 )

> C2 = XOR ( Rt0, L6, L5, L1, L0, Rng, Ext )

> C3 = XOR ( L4, L3, L2, L1, L0, Rng, Ext )

> C4 = XOR ( Pr1, Pr0 )

>

> I've rechecked this and it seems fine.

>

> My understanding was also that C5 was the XOR of all the other bits except

> C5

>

> In the Annex example the bits are:

>

> R1

>

> R0

>

> L6

>

> L5

>

> L4

>

> L3

>

> L2

>

> L1

>

> L0

>

> Rng

>

> Ext

>

> Pr1

>

> Pr0

>

> C5

>

> C4

>

> C3

>

> C2

>

> C1

>

> C0

>

> 0

>

> 1

>

> 0

>

> 0

>

> 1

>

> 0

>

> 0

>

> 0

>

> 1

>

> 0

>

> 0

>

> 0

>

> 1

>

> 1

>

> 1

>

> 0

>

> 0

>

> 1

>

> 1

>

>

> Seven bits, i.e. R0, L4, L0, Pr0, C4, C1 and C0 are = 1

>

> so C5 should be =1 also.

>

> but

>

>

> XOR ( Rt1, Rt0, L6, L5, C3, C4 )

>

> has four bits = 1 so C5 should be =0

>

>

>

> if you look at the logical order of the bits:

>

> C0 C1 R1 C2 R0 L6 L5 C3 L4 L3 L2 L1 L0 Rng Ext C4 Pr1 Pr0

>

> C3 =  XOR(L4 L3 L2 L1 L0 Rng Ext)  so they each other  out

>

> C4 = XOR(Pr1 ,Pr0)  So they also cancel out

>

> => XOR(C0 C1 R1 C2 R0 L6 L5 C3 L4 L3 L2 L1 L0 Rng Ext C4 Pr1 Pr0)

>

> =

>

> XOR (C0 C1 R1 C2 R0 L6 L5)

>

>

>

> But on the other hand look at:

>

>

>

> XOR(R1 R0 L6 L5 C3  C4)

>

>

>

> and substitute for C3 and C4 and you get

>

>

>

> XOR(R1 R0 L6 L5 L4 L3 L2 L1 L0 Rng Ext Pr1 Pr0)

>

>

>

> i.e. it is the equivalent of XOR of all the NON SECDED bits, leaving out

> bits C4, C3, C1, C2 and C0.

>

>

>

> So, the question I have is, which is correct, XOR of all the bits, or XOR

> of all the NON SECDED bits.

>

>

>

> I understood the former at the time.

>

>

> What do you think?

>

>

>

>

>

> Michael

>

> P.S. (Sorry if the above is hard going, it always seems much clearer to

> the explainer than the explainee)

>

> Of course I could have made a mistake in my sums here.

>

>

>

> -------- Original Message --------

>

> *Subject: *

>

> [802.15.4A] D6 Annex M possible mistake

>

> *Date: *

>

> Wed, 14 Feb 2007 16:48:02 +0100

>

> *From: *

>

> Dusan Radovic <dusan.radovic@TESBV.COM> <dusan.radovic@TESBV.COM>

>

> *Reply-To: *

>

> Dusan Radovic <dusan.radovic@TESBV.COM> <dusan.radovic@TESBV.COM>

>

> *To: *

>

> STDS-802-15-4A@listserv.ieee.org

>

>

>

> Please check if this is a mistake:

>

>

>

> In Annex M of D6, on the page 194 in Table M1 bit C5 seems to be wrong.

> Instead of 1 should be 0.

>

> From the formula on the page 80

>

> C5=XOR (R0, R1, L5, L6, C3, C4).

>

> There are two ones (R0 and C4) so C5 should have zero value.

>

>

>

> Names of bits in this table, in Annex M, should be as in Figure 27f on the

> page 79.

>

>

>

> One suggestion on 6.8a.7.1 when Frame Length is explained L0 could be

> denoted as least significant bit, if so.

>

>

>

> Thank you.

>

>

>

> Regards

>

> Dusan

>

From:
Vern Brethour [vern.brethour@timedomain.com]

Sent:
Thursday, March 01, 2007 4:54 PM

To:
Zafer Sahinoglu

Cc:
Michael Mc Laughlin; Jay Bain; Pat Kinney; Philip Orlik; John Lampe; Benjamin A. Rolfe

Subject:
spec maintenance

Hi Zafer,

I agree with all your points except the one about "scrutinize really deep".

I honestly thought we did that from draft 4 to 5 and again from 5 to 6.

(Draft 7 almost doesn't count.... 7 is really more like "6+" )

We've evolved to 200 pages with a lot of detail and nobody has built

hardware for the UWB part of it, nor do we have a working matlab system

model of it.  So recognizing that everything you say about loss of

confidence is unfortunately true.... I'm afraid that the errata is going to

drool out for a while.  If I can't stop the drooling, I'd at least like a

way to soak it up & manage it.

If the spec maintenance were done in the best traditions of IEEE good will

and cooperation and most of all openness, then it might be tolerated by

whatever "community" assembles itself.

Vern

  _____  

From: Zafer Sahinoglu [mailto:sahinoglu@gmail.com] 

Sent: Thursday, March 01, 2007 4:36 PM

To: Vern Brethour

Cc: Michael Mc Laughlin; Jay Bain; Pat Kinney; Philip Orlik; John Lampe;

Benjamin A. Rolfe

Subject: Re: The broken equation for C5 in clause 6.8a.7.2

Dear Vern,

My concern is that if we have a running errata that gets longer every so

often, it might discourage implementers. Furthermore,  people will

continously feel skeptical about the spec. 

My suggestion is to scrutinize the spec for errors really deep for once, and

then craft a single version errata.

best

ZS

From:
Michael Mc Laughlin [michael@decawave.com]

Sent:
Thursday, March 01, 2007 4:45 PM

To:
Zafer Sahinoglu

Cc:
Vern Brethour; Jay Bain; Pat Kinney; Philip Orlik; John Lampe; Benjamin A. Rolfe

Subject:
Re: The broken equation for C5 in clause 6.8a.7.2

In other standards organisations, there is a fairly painless way of publishing an errata document a few months after the standard. . Almost every ITU standard was followed by one. Is that not possible in the IEEE?

Michael

Zafer Sahinoglu wrote: 


Dear Vern,


My concern is that if we have a running errata that gets longer every so often, it might discourage implementers. Furthermore,  people will continously feel skeptical about the spec. 


My suggestion is to scrutinize the spec for errors really deep for once, and then craft a single version errata.


best


ZS


On 3/1/07, Vern Brethour <vern.brethour@timedomain.com> wrote: 



Wow Michael,  



Referring to me as an "expert" in your discussion below was an exceptional act of kindness.  I'll remain grateful forever (or, at least as long as I live).  A less flattering & more realistic assessment is that I screwed up the radio. 



The issue now is that the fix to the equation for C5 is no way going to be accepted by Michelle as an "editorial" change. 



The standard is (for sure) going to get published with the wrong equation for C5 & that's unfortunate.  It leaves implementers with the choice of implementing the standard as published, or the standard as it should be.  Kind of makes the standard get non-standard in a hurry. 



The best strategy I can think of:  We do some kind of a running "errata" document (like we were bantering about in previous e-mail) for collecting this stuff.  My fear is that there will be even more errata when the first person tries to de-bug a matlab simulator of the system.   So if anyone ever implements "it", their implemented "standard" will be known as "802.15.4a with 15-07-0666-25-004a" & they will call that standard "R-25".  My conscience would be relatively clear if there is some way we can alert any individual doing a download to periodically check the errata document every time someone downloads the standard.  If the errata document is some thing maintained by the "insiders" for our own amusement and we are the only ones that know about it…. That would be really bad. 



Vern

________________________________



From: Michael Mc Laughlin [mailto:michael@decawave.com] 



Sent: Thursday, March 01, 2007 3:06 PM 



To: Vern Brethour



Subject: Re: [Fwd: [802.15.4A] D6 Annex M possible mistake] 



Vern,



It's not that messy, it's only in one place in the draft, so:



There is an error in paragraph 6.8a.7.2



Where it reads:



C5 = XOR(R0, R1, L5, L6, C3, C4)



it should read



C5 = XOR(R1, R0, L6, L5, L4, L3, L2, L1, L0, RNG, EXT, P1, P0,  C4, C3, C2, C1, C0) 



Fortunately you kept pushing for Annex M. Considering it took us two "experts" more than 2 weeks, between phone calls, emails and analysis, to figure out which was right, I think it would have been a long time before someone else would have spotted it. 



This also gets us out of the problem where the receiver, unwittingly, repeats the shorthand operation for calculating C5 that the transmitter used.



Michael



Vern Brethour wrote: 



Yes Michael,



You are right.  Thanks for your tenacity.



The Hamming book actually does the codes twice: once in chapter 3 and again in chapter 11.  The chapter 3 treatment was what I was looking at originally and I got it wrong.  The chapter 11 material that I just now studied (for the first time) makes it clear that the last check bit covers the whole message including the other check bits. 



That's a messy mistake to fix.



Vern

________________________________



From: Michael Mc Laughlin [mailto:michael@decawave.com] 



Sent: Wednesday, February 28, 2007 5:49 PM 



To: Vern Brethour



Subject: Re: [Fwd: [802.15.4A] D6 Annex M possible mistake]



Vern,



Are you absolutely sure that the Hamming book doesn't check the parity of the Check bits? If you look at slide 7 of your presentation, it says that when C0 is in Error, i.e. C0=1 in the syndrome, then C5 will also be 1  in the Syndrome. But how is that so if C0 is not part of the parity for C5?



Michael



Michael Mc Laughlin wrote: 



Vern. 



Sorry for not replying earlier, I was away for a weeks holidays last week.



Take a look here. They say that all the bits, including parity should be included. 



http://en.wikipedia.org/wiki/Hamming_code#Hamming_codes_with_additional_parity 



In, your example. if there was an error in Pr0. Then C4 and C0 would point to it being wrong as would C5, which would be wrong also.



But if on the ohter hand both C4 and C0 were flipped then C5 not being wrong would point to a multi-bit error, if you don't include C4 and C0, you mistakenly think that Pr0 is wrong. 



Michael



Vern Brethour wrote: 



Hi Michael,



The equation for C5 is correct in section 6.8a.7.2.  It is ONLY the XOR of the NON_SECDED bits.  It has to be that way.  If the checksum bits are also included, then errors start un-doing the detection patterns because they get counted once for themselves and then more times when they are included in the other checksums.  When I went back to 06-0494r1 from Dallas, as a vehicle to explain this, I discovered more typos that I hadn't seen before.  So I fixed them and put in some more comments and put it on the IEEE server as 0494r2.  If you look at slide 7 and notice what happens if C4 is included in the terms for C5…..  If there is an error in Pr0, then C4 & C0 will be wrong, but C5 would not and it would look like a multi-bit error. 



Vern

________________________________



From: Michael Mc Laughlin [mailto:michael@decawave.com] 



Sent: Wednesday, February 14, 2007 4:30 PM 



To: Vern Brethour



Subject: [Fwd: [802.15.4A] D6 Annex M possible mistake]



Vern,



I've checked this out and there certainly is a discrepancy between my Annex M and the Formulas. 



I looked back at my notes and here are my thoughts :



The transmit order of the bits is:



R1 R0 L6 L5 L4 L3 L2 L1 L0 Rng Ext Pr1 Pr0 C5 C4 C3 C2 C1 C0 



BUT the logical order for SECDED is



C0 C1 R1 C2 R0 L6 L5 C3 L4 L3 L2 L1 L0 Rng Ext C4 Pr1 Pr0 C5



My understanding when I did the annex was that C1 to C4 were as show in the standard i.e.



C0 = XOR ( Rt1, Rt0, L5, L4, L2, L0, Ext, Pr1 ) 



C1 = XOR ( Rt1, L6, L5, L3, L2, Rng, Ext, Pr0 )



C2 = XOR ( Rt0, L6, L5, L1, L0, Rng, Ext )



C3 = XOR ( L4, L3, L2, L1, L0, Rng, Ext )



C4 = XOR ( Pr1, Pr0 )



I've rechecked this and it seems fine.



My understanding was also that C5 was the XOR of all the other bits except C5



In the Annex example the bits are:

R1

R0

L6

L5

L4

L3

L2

L1

L0

Rng

Ext

Pr1

Pr0

C5

C4

C3

C2

C1

C0

0

1

0

0

1

0

0

0

1

0

0

0

1

1

1

0

0

1

1



Seven bits, i.e. R0, L4, L0, Pr0, C4, C1 and C0 are = 1



so C5 should be =1 also.



but 



XOR ( Rt1, Rt0, L6, L5, C3, C4 )



has four bits = 1 so C5 should be =0



if you look at the logical order of the bits:



C0 C1 R1 C2 R0 L6 L5 C3 L4 L3 L2 L1 L0 Rng Ext C4 Pr1 Pr0



C3 =  XOR(L4 L3 L2 L1 L0 Rng Ext)  so they each other  out



C4 = XOR(Pr1 ,Pr0)  So they also cancel out



=> XOR(C0 C1 R1 C2 R0 L6 L5 C3 L4 L3 L2 L1 L0 Rng Ext C4 Pr1 Pr0) 



=



XOR (C0 C1 R1 C2 R0 L6 L5)



But on the other hand look at:



XOR(R1 R0 L6 L5 C3   C4)



and substitute for C3 and C4 and you get



XOR(R1 R0 L6 L5 L4 L3 L2 L1 L0 Rng Ext Pr1 Pr0)



i.e. it is the equivalent of XOR of all the NON SECDED bits, leaving out bits C4, C3, C1, C2 and C0.



So, the question I have is, which is correct, XOR of all the bits, or XOR of all the NON SECDED bits.



I understood the former at the time.



What do you think?



Michael



P.S. (Sorry if the above is hard going, it always seems much clearer to the explainer than the explainee) 



Of course I could have made a mistake in my sums here. 



-------- Original Message -------- 

Subject: 

[802.15.4A] D6 Annex M possible mistake

Date: 

Wed, 14 Feb 2007 16:48:02 +0100

From: 

Dusan Radovic <dusan.radovic@TESBV.COM> <mailto:dusan.radovic@TESBV.COM> 

Reply-To: 

Dusan Radovic <dusan.radovic@TESBV.COM> <mailto:dusan.radovic@TESBV.COM> 

To: 

STDS-802-15-4A@listserv.ieee.org 



Please check if this is a mistake:



In Annex M of D6, on the page 194 in Table M1 bit C5 seems to be wrong. Instead of 1 should be 0. 



From the formula on the page 80



C5=XOR (R0, R1, L5, L6, C3, C4).



There are two ones (R0 and C4) so C5 should have zero value.



Names of bits in this table, in Annex M, should be as in Figure 27f on the page 79.



One suggestion on 6.8a.7.1 when Frame Length is explained L0 could be denoted as least significant bit, if so.



Thank you.



Regards



Dusan

From:
Vern Brethour [vern.brethour@timedomain.com]

Sent:
Thursday, March 01, 2007 3:50 PM

To:
Michael Mc Laughlin; Jay Bain; 'Pat Kinney'

Cc:
Philip Orlik; Zafer Sahinoglu; 'John Lampe'; Benjamin A. Rolfe

Subject:
The broken equation for C5 in clause 6.8a.7.2

Wow Michael,  

Referring to me as an "expert" in your discussion below was an exceptional

act of kindness.  I'll remain grateful forever (or, at least as long as I

live).  A less flattering & more realistic assessment is that I screwed up

the radio.

The issue now is that the fix to the equation for C5 is no way going to be

accepted by Michelle as an "editorial" change. 

The standard is (for sure) going to get published with the wrong equation

for C5 & that's unfortunate.  It leaves implementers with the choice of

implementing the standard as published, or the standard as it should be.

Kind of makes the standard get non-standard in a hurry.

The best strategy I can think of:  We do some kind of a running "errata"

document (like we were bantering about in previous e-mail) for collecting

this stuff.  My fear is that there will be even more errata when the first

person tries to de-bug a matlab simulator of the system.   So if anyone ever

implements "it", their implemented "standard" will be known as "802.15.4a

with 15-07-0666-25-004a" & they will call that standard "R-25".  My

conscience would be relatively clear if there is some way we can alert any

individual doing a download to periodically check the errata document every

time someone downloads the standard.  If the errata document is some thing

maintained by the "insiders" for our own amusement and we are the only ones

that know about it.... That would be really bad.

Vern

  _____  

From: Michael Mc Laughlin [mailto:michael@decawave.com] 

Sent: Thursday, March 01, 2007 3:06 PM

To: Vern Brethour

Subject: Re: [Fwd: [802.15.4A] D6 Annex M possible mistake]

Vern,

It's not that messy, it's only in one place in the draft, so:

There is an error in paragraph 6.8a.7.2

Where it reads:

C5 = XOR(R0, R1, L5, L6, C3, C4)

it should read

C5 = XOR(R1, R0, L6, L5, L4, L3, L2, L1, L0, RNG, EXT, P1, P0,  C4, C3, C2,

C1, C0)

Fortunately you kept pushing for Annex M. Considering it took us two

"experts" more than 2 weeks, between phone calls, emails and analysis, to

figure out which was right, I think it would have been a long time before

someone else would have spotted it.

This also gets us out of the problem where the receiver, unwittingly,

repeats the shorthand operation for calculating C5 that the transmitter

used.

Michael

Vern Brethour wrote: 

Yes Michael,

You are right.  Thanks for your tenacity.

The Hamming book actually does the codes twice: once in chapter 3 and again

in chapter 11.  The chapter 3 treatment was what I was looking at originally

and I got it wrong.  The chapter 11 material that I just now studied (for

the first time) makes it clear that the last check bit covers the whole

message including the other check bits.

That's a messy mistake to fix.

Vern

  _____  

From: Michael Mc Laughlin [mailto:michael@decawave.com

<mailto:michael@decawave.com> ] 

Sent: Wednesday, February 28, 2007 5:49 PM

To: Vern Brethour

Subject: Re: [Fwd: [802.15.4A] D6 Annex M possible mistake]

Vern,

Are you absolutely sure that the Hamming book doesn't check the parity of

the Check bits? If you look at slide 7 of your presentation, it says that

when C0 is in Error, i.e. C0=1 in the syndrome, then C5 will also be 1  in

the Syndrome. But how is that so if C0 is not part of the parity for C5?

Michael

Michael Mc Laughlin wrote: 

Vern. 

Sorry for not replying earlier, I was away for a weeks holidays last week.

Take a look here. They say that all the bits, including parity should be

included. 

http://en.wikipedia.org/wiki/Hamming_code#Hamming_codes_with_additional_pari

ty

<http://en.wikipedia.org/wiki/Hamming_code#Hamming_codes_with_additional_par

ity> 

In, your example. if there was an error in Pr0. Then C4 and C0 would point

to it being wrong as would C5, which would be wrong also.

But if on the ohter hand both C4 and C0 were flipped then C5 not being wrong

would point to a multi-bit error, if you don't include C4 and C0, you

mistakenly think that Pr0 is wrong.

Michael

Vern Brethour wrote: 

Hi Michael,

The equation for C5 is correct in section 6.8a.7.2.  It is ONLY the XOR of

the NON_SECDED bits.  It has to be that way.  If the checksum bits are also

included, then errors start un-doing the detection patterns because they get

counted once for themselves and then more times when they are included in

the other checksums.  When I went back to 06-0494r1 from Dallas, as a

vehicle to explain this, I discovered more typos that I hadn't seen before.

So I fixed them and put in some more comments and put it on the IEEE server

as 0494r2.  If you look at slide 7 and notice what happens if C4 is included

in the terms for C5.....  If there is an error in Pr0, then C4 & C0 will be

wrong, but C5 would not and it would look like a multi-bit error.

Vern

  _____  

From: Michael Mc Laughlin [mailto:michael@decawave.com

<mailto:michael@decawave.com> ] 

Sent: Wednesday, February 14, 2007 4:30 PM

To: Vern Brethour

Subject: [Fwd: [802.15.4A] D6 Annex M possible mistake]

Vern,

I've checked this out and there certainly is a discrepancy between my Annex

M and the Formulas. 

I looked back at my notes and here are my thoughts :

The transmit order of the bits is:

R1 R0 L6 L5 L4 L3 L2 L1 L0 Rng Ext Pr1 Pr0 C5 C4 C3 C2 C1 C0

BUT the logical order for SECDED is

C0 C1 R1 C2 R0 L6 L5 C3 L4 L3 L2 L1 L0 Rng Ext C4 Pr1 Pr0 C5

My understanding when I did the annex was that C1 to C4 were as show in the

standard i.e.

C0 = XOR ( Rt1, Rt0, L5, L4, L2, L0, Ext, Pr1 )

C1 = XOR ( Rt1, L6, L5, L3, L2, Rng, Ext, Pr0 )

C2 = XOR ( Rt0, L6, L5, L1, L0, Rng, Ext )

C3 = XOR ( L4, L3, L2, L1, L0, Rng, Ext )

C4 = XOR ( Pr1, Pr0 )

I've rechecked this and it seems fine.

My understanding was also that C5 was the XOR of all the other bits except

C5

In the Annex example the bits are:

R1

R0

L6

L5

L4

L3

L2

L1

L0

Rng

Ext

Pr1

Pr0

C5

C4

C3

C2

C1

C0

0

1

0

0

1

0

0

0

1

0

0

0

1

1

1

0

0

1

1

Seven bits, i.e. R0, L4, L0, Pr0, C4, C1 and C0 are = 1

so C5 should be =1 also.

but 

XOR ( Rt1, Rt0, L6, L5, C3, C4 )

has four bits = 1 so C5 should be =0

if you look at the logical order of the bits:

C0 C1 R1 C2 R0 L6 L5 C3 L4 L3 L2 L1 L0 Rng Ext C4 Pr1 Pr0

C3 =  XOR(L4 L3 L2 L1 L0 Rng Ext)  so they each other  out

C4 = XOR(Pr1 ,Pr0)  So they also cancel out

=> XOR(C0 C1 R1 C2 R0 L6 L5 C3 L4 L3 L2 L1 L0 Rng Ext C4 Pr1 Pr0) 

=

XOR (C0 C1 R1 C2 R0 L6 L5)

But on the other hand look at:

XOR(R1 R0 L6 L5 C3  C4)

and substitute for C3 and C4 and you get

XOR(R1 R0 L6 L5 L4 L3 L2 L1 L0 Rng Ext Pr1 Pr0)

i.e. it is the equivalent of XOR of all the NON SECDED bits, leaving out

bits C4, C3, C1, C2 and C0.

So, the question I have is, which is correct, XOR of all the bits, or XOR of

all the NON SECDED bits.

I understood the former at the time.

What do you think?

Michael

P.S. (Sorry if the above is hard going, it always seems much clearer to the

explainer than the explainee) 

Of course I could have made a mistake in my sums here.

-------- Original Message -------- 

Subject: 

[802.15.4A] D6 Annex M possible mistake

Date: 

Wed, 14 Feb 2007 16:48:02 +0100

From: 

Dusan Radovic  <mailto:dusan.radovic@TESBV.COM> <dusan.radovic@TESBV.COM>

Reply-To: 

Dusan Radovic  <mailto:dusan.radovic@TESBV.COM> <dusan.radovic@TESBV.COM>

To: 

STDS-802-15-4A@listserv.ieee.org <mailto:STDS-802-15-4A@listserv.ieee.org> 

Please check if this is a mistake:

In Annex M of D6, on the page 194 in Table M1 bit C5 seems to be wrong.

Instead of 1 should be 0. 

>From the formula on the page 80

C5=XOR (R0, R1, L5, L6, C3, C4).

There are two ones (R0 and C4) so C5 should have zero value.

Names of bits in this table, in Annex M, should be as in Figure 27f on the

page 79.

One suggestion on 6.8a.7.1 when Frame Length is explained L0 could be

denoted as least significant bit, if so.

Thank you.

Regards

Dusan

From:
Dusan Radovic [dusan.radovic@TESBV.COM]

Sent:
Wednesday, February 28, 2007 6:52 AM

To:
STDS-802-15-4A@listserv.ieee.org

Subject:
[802.15.4A] scrambler description?

Looking at Figure 27i in Draft 6, page 83, for me it is not clear how it

corresponds to the formula for calculation of a burst hopping position h^(k)

given below !

It looks like the MSB and the LSB changed their positions.

This comment also concerns the Annex M and there given example.

Best regards,

Dušan

From:
Zafer Sahinoglu [sahinoglu@gmail.com]

Sent:
Friday, February 23, 2007 3:56 PM

To:
Vern Brethour

Cc:
Philip Orlik; Jay Bain

Subject:
Re: [802.15.4A] Ranging example

Hi Vern,

Thanks. I ll remove it.

Z

On 2/23/07, Vern Brethour <vern.brethour@timedomain.com> wrote:

>

>

> It looks good Zafer.

>

> You've got a stray box on the second slide.

>

> I circled it in the attachment.

>

> Vern

>

>

> -----Original Message-----

> From: Zafer Sahinoglu [mailto:sahinoglu@gmail.com]

> Sent: Monday, February 19, 2007 12:57 PM

> To: Vern Brethour

> Cc: Philip Orlik; Jay Bain

> Subject: [802.15.4A] Ranging example

>

> Hi Vern,

>

> A while ago, I took an action item to prepare some material on how

> ranging works.

> In the attached I have two self-explanatory figures. If we would like

> to use them in the spec, I can go ahead and write up some descriptive

> text.

>

> best regards

> Zafer

>

>

>

From:
Vern Brethour [vern.brethour@timedomain.com]

Sent:
Friday, February 23, 2007 2:13 PM

To:
Zafer Sahinoglu

Cc:
Philip Orlik; Jay Bain

Subject:
RE: [802.15.4A] Ranging example

Attachments:
slide_2.JPG

It looks good Zafer.

You've got a stray box on the second slide.  

I circled it in the attachment.

Vern

-----Original Message-----

From: Zafer Sahinoglu [mailto:sahinoglu@gmail.com] 

Sent: Monday, February 19, 2007 12:57 PM

To: Vern Brethour

Cc: Philip Orlik; Jay Bain

Subject: [802.15.4A] Ranging example

Hi Vern,

A while ago, I took an action item to prepare some material on how

ranging works.

In the attached I have two self-explanatory figures. If we would like

to use them in the spec, I can go ahead and write up some descriptive

text.

best regards

Zafer

From:
Philip Orlik [porlik@merl.com]

Sent:
Thursday, February 22, 2007 7:43 PM

To:
Vern Brethour

Cc:
'Pat Kinney'; Jay Bain; 'John Lampe'; Zafer Sahinoglu; 'Benjamin A. Rolfe'; Michael Mc Laughlin; alfvin@ieee.org

Subject:
Re: IEEE doc #666

Attachments:
porlik.vcf

That's too bad, but, I will be in Orlando attending the 802.16 

sessions.  I'll keep my eye on wireless world to see if I can grab it.

On a more serious note, the error that Dusan found in the equation for 

the reference pulse really bugs me.  It would be nice to fix it before 

publication,  all that is required is to move one parenthesis.  Is this 

possible?

Phil

Vern Brethour wrote:

> -->

>

> Sorry Phil,

>

>  

>

> Just a moment of whimsy while typing.  I didn't expect anyone to notice. 

>

>  

>

> Because Rick Alfvin did not re-set the sequence numbers when we 

> transitioned into 2007, the assigned document numbers are now up to 

> 611.  So somebody will score the 666 

> <http://en.wikipedia.org/wiki/666_%28number%29> assignment during the 

> Orlando meeting.

>

>  

>

> Vern

>

>  

>

> ------------------------------------------------------------------------

>

> *From:* Philip Orlik [mailto:porlik@merl.com]

> *Sent:* Thursday, February 22, 2007 9:25 AM

> *To:* Vern Brethour

> *Cc:* 'Pat Kinney'; Jay Bain; 'John Lampe'; Zafer Sahinoglu; 'Benjamin 

> A. Rolfe'; Michael Mc Laughlin

> *Subject:* Re: Maintaining our standard.

>

>  

>

> Vern

>

> Is the '666' part of your document number the actual one at wireless 

> world?  If so I say let's grab it. (Maybe when we finish correcting 

> all the errors we can sit back and await The Rapture 

> <http://en.wikipedia.org/wiki/Rapture>).

>

> Peace

> Phil

>

>

>

>

> Vern Brethour wrote:

>

> -->

>

> Hi Pat,

>

>  

>

> In the historical time prior to a "correction project" could we have a 

> running "errata" contribution on the 802.15 server?  (Something like 

> 15-07-0666-00-004a-eratta-for-2007-version.) Every time someone finds 

> something, we put the "editor's recommendation" for a fix into that 

> (as yet non-existent) document and bump the rev number.  That way it's 

> publicly available and we can maintain it without too much pain.  At 

> the rate that Dusan is going, we'll be up to "r40" in a few weeks!

>

>  

>

> One of the problems that Dusan found is a mistake in annex M having to 

> do with the computation of the check bit "C5" which is correct in 

> 6.8a.7.2, but wrong in Michael's example.  We really need a mechanism 

> to communicate that boo-boo to anyone who might be thinking about 

> implementing.  Michael hasn't gotten back on how he wants to handle 

> that one, but mostly it's out of his hands anyway.

>

>  

>

> Vern

>

>  

>

> ------------------------------------------------------------------------

>

> *From:* Philip Orlik [mailto:porlik@merl.com]

> *Sent:* Wednesday, February 21, 2007 12:37 PM

> *To:* Jay Bain

> *Cc:* Vern Brethour; 'Pat Kinney'

> *Subject:* Re: [802.15.4A] Table 39c update needed

>

>  

>

> Jay

>

> For now I've been trying to make sure that any contact I have with 

> people reviewing the spec is copied to the reflector.  I think this is 

> okay for now, but I agree that we need some formal process.

>

> Thanks

> Phil

>

>

> Jay Bain wrote:

>

>

> -->

>

> Phil,

>

>  

>

> I suspect that since this is not an editorial change that it will have 

> to keep for a correction project. I could be wrong.

>

>  

>

> Right now, a method to collect the several errors that have been 

> spotted by Dusan and others is important. I don't want to lose them.

>

>  

>

> jay

>

>  

>

> ------------------------------------------------------------------------

>

> *From:* Philip Orlik [mailto:porlik@MERL.COM]

> *Sent:* Wednesday, February 21, 2007 11:28 AM

> *To:* STDS-802-15-4A@listserv.ieee.org 

> <mailto:STDS-802-15-4A@listserv.ieee.org>

> *Subject:* Re: [802.15.4A] Table 39c update needed

>

>  

>

> Dusan

>

> Yes, you have found another error.  This is one that we missed when we 

> added the SECDED code to the header.  The duration of the PHY header, 

> T_hdr would also need to change to 19.5, 20.0 and 77.9 (us). 

>

> Pat, Could this be done by the IEEE editorial staff?

>

> Phil

>

> Dusan Radovic wrote:

>

>

>

> -->

>

> In Draft 6 Table 39c, page 74, needs to be updated because of the PHY 

> header length change from Draft 5.

>

>  

>

> N_hdr =19 symbols not 16, and then values for T_hdr are increased.

>

>  

>

> Regards,

>

> Dušan

>

>  

>

From:
Vern Brethour [vern.brethour@timedomain.com]

Sent:
Thursday, February 22, 2007 10:01 AM

To:
Philip Orlik

Cc:
'Pat Kinney'; Jay Bain; 'John Lampe'; Zafer Sahinoglu; 'Benjamin A. Rolfe'; Michael Mc Laughlin; alfvin@ieee.org

Subject:
IEEE doc #666

Sorry Phil,

Just a moment of whimsy while typing.  I didn't expect anyone to notice.  

Because Rick Alfvin did not re-set the sequence numbers when we transitioned

into 2007, the assigned document numbers are now up to 611.  So somebody

will score the 666 <http://en.wikipedia.org/wiki/666_(number)>  assignment

during the Orlando meeting.

Vern

  _____  

From: Philip Orlik [mailto:porlik@merl.com] 

Sent: Thursday, February 22, 2007 9:25 AM

To: Vern Brethour

Cc: 'Pat Kinney'; Jay Bain; 'John Lampe'; Zafer Sahinoglu; 'Benjamin A.

Rolfe'; Michael Mc Laughlin

Subject: Re: Maintaining our standard.

Vern

Is the '666' part of your document number the actual one at wireless world?

If so I say let's grab it. (Maybe when we finish correcting all the errors

we can sit back and await The Rapture <http://en.wikipedia.org/wiki/Rapture>

).

Peace

Phil

Vern Brethour wrote: 

--> 

Hi Pat,

In the historical time prior to a "correction project" could we have a

running "errata" contribution on the 802.15 server?  (Something like

15-07-0666-00-004a-eratta-for-2007-version.) Every time someone finds

something, we put the "editor's recommendation" for a fix into that (as yet

non-existent) document and bump the rev number.  That way it's publicly

available and we can maintain it without too much pain.  At the rate that

Dusan is going, we'll be up to "r40" in a few weeks!

One of the problems that Dusan found is a mistake in annex M having to do

with the computation of the check bit "C5" which is correct in 6.8a.7.2, but

wrong in Michael's example.  We really need a mechanism to communicate that

boo-boo to anyone who might be thinking about implementing.  Michael hasn't

gotten back on how he wants to handle that one, but mostly it's out of his

hands anyway.

Vern

  _____  

From: Philip Orlik [mailto:porlik@merl.com <mailto:porlik@merl.com> ] 

Sent: Wednesday, February 21, 2007 12:37 PM

To: Jay Bain

Cc: Vern Brethour; 'Pat Kinney'

Subject: Re: [802.15.4A] Table 39c update needed

Jay

For now I've been trying to make sure that any contact I have with people

reviewing the spec is copied to the reflector.  I think this is okay for

now, but I agree that we need some formal process.

Thanks

Phil

Jay Bain wrote:

--> 

Phil,

I suspect that since this is not an editorial change that it will have to

keep for a correction project. I could be wrong. 

Right now, a method to collect the several errors that have been spotted by

Dusan and others is important. I don't want to lose them.

jay

  _____  

From: Philip Orlik [mailto:porlik@MERL.COM <mailto:porlik@MERL.COM> ] 

Sent: Wednesday, February 21, 2007 11:28 AM

To: STDS-802-15-4A@listserv.ieee.org

<mailto:STDS-802-15-4A@listserv.ieee.org> 

Subject: Re: [802.15.4A] Table 39c update needed

Dusan

Yes, you have found another error.  This is one that we missed when we added

the SECDED code to the header.  The duration of the PHY header, T_hdr would

also need to change to 19.5, 20.0 and 77.9 (us).  

Pat, Could this be done by the IEEE editorial staff?

Phil

Dusan Radovic wrote:

--> 

In Draft 6 Table 39c, page 74, needs to be updated because of the PHY header

length change from Draft 5.

N_hdr =19 symbols not 16, and then values for T_hdr are increased.

Regards,

Dušan 

From:
Kai Siwiak [k.siwiak@ieee.org]

Sent:
Wednesday, February 21, 2007 5:22 PM

To:
STDS-802-15-4A@listserv.ieee.org

Subject:
Re: [802.15.4A] UWB baseband pulse definition?

Phil,

Thanks! .. and sorry for the late reply. You are absolutely right. r(t) is as you describe.

Kai

Philip Orlik wrote: 


Kai


I believe that the equation for r(t) denotes the impulse response of a filter having the Fourier transform, sqrt(H(f)),  where H(f) is the frequency domain transform of a raised cosine filter.  


Regards


Phil


Kai Siwiak wrote:



Dusan, Philip,



Strictly speaking, the equation for r(t) [when corrected as Dusan noted] does not describe a "raised root cosine" filter, but rather a "raised cosine" filter. The "root" notation comes from applications where H(f) is the frequency domain transform of r(t), and the square root of the filter magnitude function is implemented at the transmitter and then again at the receiver end in such a fashion that the product is H(f), hence the "raised root" terminology. This is inapplicable here since the entire filter is at the transmitter (there is no "root"). The notation "root" should be dropped from the description. 



Kai Siwiak



TimeDerivative, Inc.



Philip Orlik wrote: 




Dusan 




It is the half pulse amplitude point.  So for example if Tp = 2 ns then r(-1) = r(1) = r(0)/2. 




Also you are correct about the misplaced bracket ... Thanks for catching that. 




Regards 




Philip Orlik 




Dusan Radovic wrote: 





Hi all, 





Could you clarify the pulse duration given in 6.8a.11.1, Draft 5. 





Is it defined on the half of pulse amplitude or as width of the main lobe 





(from zero to zero)? 





In the same part, in the mathematical description (formula), right medium 





bracket is misplaced should be before the plus sign in the nominator. 





Thank you. 





Regards, 





Dusan Radovic 





TES Electronic Solutions 





Stuttgart 





Germany 

From:
cgentile@email.nist.gov

Sent:
Wednesday, February 21, 2007 12:41 PM

To:
jay Bain

Cc:
porlik@MERL.COM

Subject:
correction

Hi Jay,


I sent out on the server my recommended correction of the mistake Ahmed 

caught in my annex on pg. 133, line 47.  This was simply to remove the two 

underbrackets and associated text (t_p and t_p).  Should I just assume that 

you will take care of it?

Thanks,

Camillo

From:
Philip Orlik [porlik@merl.com]

Sent:
Wednesday, February 21, 2007 12:37 PM

To:
Jay Bain

Cc:
'Vern Brethour'; 'Pat Kinney'

Subject:
Re: [802.15.4A] Table 39c update needed

Attachments:
porlik.vcf

Jay

For now I've been trying to make sure that any contact I have with 

people reviewing the spec is copied to the reflector.  I think this is 

okay for now, but I agree that we need some formal process.

Thanks

Phil

Jay Bain wrote:

> -->

>

> Phil,

>

>  

>

> I suspect that since this is not an editorial change that it will have 

> to keep for a correction project. I could be wrong.

>

>  

>

> Right now, a method to collect the several errors that have been 

> spotted by Dusan and others is important. I don't want to lose them.

>

>  

>

> jay

>

>  

>

> ------------------------------------------------------------------------

>

> *From:* Philip Orlik [mailto:porlik@MERL.COM]

> *Sent:* Wednesday, February 21, 2007 11:28 AM

> *To:* STDS-802-15-4A@listserv.ieee.org

> *Subject:* Re: [802.15.4A] Table 39c update needed

>

>  

>

> Dusan

>

> Yes, you have found another error.  This is one that we missed when we 

> added the SECDED code to the header.  The duration of the PHY header, 

> T_hdr would also need to change to 19.5, 20.0 and 77.9 (us). 

>

> Pat, Could this be done by the IEEE editorial staff?

>

> Phil

>

> Dusan Radovic wrote:

>

> -->

>

> In Draft 6 Table 39c, page 74, needs to be updated because of the PHY 

> header length change from Draft 5.

>

>  

>

> N_hdr =19 symbols not 16, and then values for T_hdr are increased.

>

>  

>

> Regards,

>

> Dušan

>

>  

>

From:
Philip Orlik [porlik@MERL.COM]

Sent:
Wednesday, February 21, 2007 11:28 AM

To:
STDS-802-15-4A@listserv.ieee.org

Subject:
Re: [802.15.4A] Table 39c update needed

Attachments:
porlik.vcf

Dusan

Yes, you have found another error.  This is one that we missed when we 

added the SECDED code to the header.  The duration of the PHY header, 

T_hdr would also need to change to 19.5, 20.0 and 77.9 (us). 

Pat, Could this be done by the IEEE editorial staff?

Phil

Dusan Radovic wrote:

> -->

>

> In Draft 6 Table 39c, page 74, needs to be updated because of the PHY 

> header length change from Draft 5.

>

>  

>

> N_hdr =19 symbols not 16, and then values for T_hdr are increased.

>

>  

>

> Regards,

>

> Dušan

>

>  

>

From:
Dusan Radovic [dusan.radovic@TESBV.COM]

Sent:
Wednesday, February 21, 2007 10:44 AM

To:
STDS-802-15-4A@listserv.ieee.org

Subject:
[802.15.4A] Table 39c update needed

In Draft 6 Table 39c, page 74, needs to be updated because of the PHY header

length change from Draft 5.

N_hdr =19 symbols not 16, and then values for T_hdr are increased.

Regards,

Dušan 

From:
Dusan Radovic [dusan.radovic@TESBV.COM]

Sent:
Tuesday, February 20, 2007 11:30 AM

To:
STDS-802-15-4A@listserv.ieee.org

Subject:
[802.15.4A] pulse position in a chip?

Could you consider the following missing definition of the pulse position?

For pulses that have duration Tp shorter than the chip duration, Tc, it is

not defined position in a chip. It might be from the beginning of a chip Tp,

or centralized postion, or Tp before the end, or.

This clarification might be added in 6.8a.12.1 part Baseband impulse

response part.

Thank you.

Regards,

Dušan 

From:
Camillo Gentile [cgentile@EMAIL.NIST.GOV]

Sent:
Tuesday, February 20, 2007 9:18 AM

To:
STDS-802-15-4A@listserv.ieee.org

Subject:
Re: [802.15.4A] Possible errors in IEEE 802.15.4a / D6

Hello all,

         This is simply a typo: the easiest solution is just to eliminate 

the two underbrackets in the equation in line 47 as they are 

unnecessary.  Note that the two quantities (tau_AR-tau_AT) and 

(tau_BR-tau_BT) are properly substituted as 2*tp+t_replyB and -t_replyB 

respectively, as indicated on line 50.  Sorry about that.

Thanks,

Camillo

At 12:19 PM 2/19/2007, Vern Brethour wrote:

>Phil and Ahmed are both right but they are not talking about the same thing.

>

>Phil’s observation “so computing it as (tau_AR-tau_BT) or (tau_BR - 

>tau_AT) seems correct” refers to line 40, and Ahmed is not objecting to 

>line 40. (Like Phil says, using t-sub-p on line 40 is correct.)

>

>Ahmed is questioning line 47, and sure enough, after re-arranging the 

>terms on line 38 and applying correction factors for oscillator drift, the 

>t-sub-p designation is now wrong.  [Note to Jay and Michele] The best fix 

>for this would be to eliminate lines 46 and 47 altogether.  But if we want 

>to keep line 47, and also be correct with respect to the terms in figure 

>D1.5, then characters on line 47 under the first bracket should be 

>“t-sub-roundA”; and the characters under the second bracket should be 

>MINUS t-sub-replyB.  The minus sign is an important subtlety needed to 

>reconcile the picture in D1.5 and the algebra on line 38.

>

>Thanks Ahmed, Good catch.

>

>Vern

>

>

>----------

>From: Philip Orlik [mailto:porlik@merl.com]

>Sent: Thursday, February 15, 2007 9:52 AM

>To: PeaceMaker; stds-802-15-4A@listserv.ieee.org; Vern Brethour; Zafer 

>Sahinoglu

>Subject: Re: [802.15.4A] Possible errors in IEEE 802.15.4a / D6

>

>Ahmed,

>

>Thank you for your careful review of the draft.  I don't see the issue 

>with the label, tp.  tp is defined as the propagation time between device 

>A and B in this section so computing it as (tau_AR-tau_BT) or (tau_BR - 

>tau_AT) seems correct.  However, I have included the two ranging editors 

>to this reply and they may have more to say about your question.

>

>Vern or Zafer could either of you take a look at Ahmed's email below and 

>my response above to see if you have anything to add.  His question refers 

>to section D1.2.1 on Two-way ranging.

>

>Best Regards

>Phil

>

>

>PeaceMaker wrote:

>

>Hi Philip,

>Please check a possible error in IEEE 802.15.4a / D6

>Page 133, line 47,

>tp should be eliminated

>

>Thank you,

>

>Regards

>

>Ahmed Salim

>

>Besoin d'un bon plan d'appel ? Appelez gratuitement de PC à PC 

><http://cf.messenger.yahoo.com/>Téléchargez Yahoo! Messenger.

From:
Zafer Sahinoglu [sahinoglu@gmail.com]

Sent:
Monday, February 19, 2007 12:57 PM

To:
Vern Brethour

Cc:
Philip Orlik; Jay Bain

Subject:
[802.15.4A] Ranging example

Attachments:
Ranging-example.ppt

Hi Vern,

A while ago, I took an action item to prepare some material on how

ranging works.

In the attached I have two self-explanatory figures. If we would like

to use them in the spec, I can go ahead and write up some descriptive

text.

best regards

Zafer

From:
Vern Brethour [vern.brethour@TIMEDOMAIN.COM]

Sent:
Monday, February 19, 2007 11:20 AM

To:
STDS-802-15-4A@listserv.ieee.org

Subject:
Re: [802.15.4A] Possible errors in IEEE 802.15.4a / D6

Phil and Ahmed are both right but they are not talking about the same thing.

Phil's observation "so computing it as (tau_AR-tau_BT) or (tau_BR - tau_AT)

seems correct" refers to line 40, and Ahmed is not objecting to line 40.

(Like Phil says, using t-sub-p on line 40 is correct.)

Ahmed is questioning line 47, and sure enough, after re-arranging the terms

on line 38 and applying correction factors for oscillator drift, the t-sub-p

designation is now wrong.  [Note to Jay and Michele] The best fix for this

would be to eliminate lines 46 and 47 altogether.  But if we want to keep

line 47, and also be correct with respect to the terms in figure D1.5, then

characters on line 47 under the first bracket should be "t-sub-roundA"; and

the characters under the second bracket should be MINUS t-sub-replyB.  The

minus sign is an important subtlety needed to reconcile the picture in D1.5

and the algebra on line 38.

Thanks Ahmed, Good catch.

Vern

  _____  

From: Philip Orlik [mailto:porlik@merl.com] 

Sent: Thursday, February 15, 2007 9:52 AM

To: PeaceMaker; stds-802-15-4A@listserv.ieee.org; Vern Brethour; Zafer

Sahinoglu

Subject: Re: [802.15.4A] Possible errors in IEEE 802.15.4a / D6

Ahmed,

Thank you for your careful review of the draft.  I don't see the issue with

the label, tp.  tp is defined as the propagation time between device A and B

in this section so computing it as (tau_AR-tau_BT) or (tau_BR - tau_AT)

seems correct.  However, I have included the two ranging editors to this

reply and they may have more to say about your question. 

Vern or Zafer could either of you take a look at Ahmed's email below and my

response above to see if you have anything to add.  His question refers to

section D1.2.1 on Two-way ranging.

Best Regards

Phil

PeaceMaker wrote:

Hi Philip,

Please check a possible error in IEEE 802.15.4a / D6

Page 133, line 47,

tp should be eliminated

Thank you,

Regards

Ahmed Salim

  _____  

Besoin d'un bon plan d'appel ? Appelez gratuitement de PC à PC

<http://cf.messenger.yahoo.com/> Téléchargez Yahoo! Messenger. 

From:
Vern Brethour [vern.brethour@timedomain.com]

Sent:
Monday, February 19, 2007 11:20 AM

To:
Philip Orlik; PeaceMaker; stds-802-15-4A@listserv.ieee.org; Zafer Sahinoglu

Cc:
Jay Bain

Subject:
RE: [802.15.4A] Possible errors in IEEE 802.15.4a / D6

Phil and Ahmed are both right but they are not talking about the same thing.

Phil's observation "so computing it as (tau_AR-tau_BT) or (tau_BR - tau_AT)

seems correct" refers to line 40, and Ahmed is not objecting to line 40.

(Like Phil says, using t-sub-p on line 40 is correct.)

Ahmed is questioning line 47, and sure enough, after re-arranging the terms

on line 38 and applying correction factors for oscillator drift, the t-sub-p

designation is now wrong.  [Note to Jay and Michele] The best fix for this

would be to eliminate lines 46 and 47 altogether.  But if we want to keep

line 47, and also be correct with respect to the terms in figure D1.5, then

characters on line 47 under the first bracket should be "t-sub-roundA"; and

the characters under the second bracket should be MINUS t-sub-replyB.  The

minus sign is an important subtlety needed to reconcile the picture in D1.5

and the algebra on line 38.

Thanks Ahmed, Good catch.

Vern

  _____  

From: Philip Orlik [mailto:porlik@merl.com] 

Sent: Thursday, February 15, 2007 9:52 AM

To: PeaceMaker; stds-802-15-4A@listserv.ieee.org; Vern Brethour; Zafer

Sahinoglu

Subject: Re: [802.15.4A] Possible errors in IEEE 802.15.4a / D6

Ahmed,

Thank you for your careful review of the draft.  I don't see the issue with

the label, tp.  tp is defined as the propagation time between device A and B

in this section so computing it as (tau_AR-tau_BT) or (tau_BR - tau_AT)

seems correct.  However, I have included the two ranging editors to this

reply and they may have more to say about your question. 

Vern or Zafer could either of you take a look at Ahmed's email below and my

response above to see if you have anything to add.  His question refers to

section D1.2.1 on Two-way ranging.

Best Regards

Phil

PeaceMaker wrote:

Hi Philip,

Please check a possible error in IEEE 802.15.4a / D6

Page 133, line 47,

tp should be eliminated

Thank you,

Regards

Ahmed Salim

  _____  

Besoin d'un bon plan d'appel ? Appelez gratuitement de PC à PC

<http://cf.messenger.yahoo.com/> Téléchargez Yahoo! Messenger. 

From:
Philip Orlik [porlik@MERL.COM]

Sent:
Thursday, February 15, 2007 9:52 AM

To:
STDS-802-15-4A@listserv.ieee.org

Subject:
Re: [802.15.4A] Possible errors in IEEE 802.15.4a / D6

Attachments:
porlik.vcf

Ahmed,

Thank you for your careful review of the draft.  I don't see the issue 

with the label, tp.  tp is defined as the propagation time between 

device A and B in this section so computing it as (tau_AR-tau_BT) or 

(tau_BR - tau_AT) seems correct.  However, I have included the two 

ranging editors to this reply and they may have more to say about your 

question.

Vern or Zafer could either of you take a look at Ahmed's email below and 

my response above to see if you have anything to add.  His question 

refers to section D1.2.1 on Two-way ranging.

Best Regards

Phil

PeaceMaker wrote:

> Hi Philip,

> Please check a possible error in IEEE 802.15.4a / D6

> Page 133, line 47,

> tp should be eliminated

>

> Thank you,

>

> Regards

>

> Ahmed Salim

>

> ------------------------------------------------------------------------

> Besoin d'un bon plan d'appel ? Appelez gratuitement de PC à PC 

> *Téléchargez Yahoo! Messenger.* <http://cf.messenger.yahoo.com/> 

From:
Dusan Radovic [dusan.radovic@TESBV.COM]

Sent:
Wednesday, February 14, 2007 9:48 AM

To:
STDS-802-15-4A@listserv.ieee.org

Subject:
[802.15.4A] D6 Annex M possible mistake

Please check if this is a mistake:

In Annex M of D6, on the page 194 in Table M1 bit C5 seems to be wrong.

Instead of 1 should be 0. 

>From the formula on the page 80

C5=XOR (R0, R1, L5, L6, C3, C4).

There are two ones (R0 and C4) so C5 should have zero value.

Names of bits in this table, in Annex M, should be as in Figure 27f on the

page 79.

One suggestion on 6.8a.7.1 when Frame Length is explained L0 could be

denoted as least significant bit, if so.

Thank you.

Regards

Dusan

From:
Philip Orlik [porlik@MERL.COM]

Sent:
Tuesday, February 13, 2007 3:29 PM

To:
STDS-802-15-4A@listserv.ieee.org

Subject:
Re: [802.15.4A] Possible errors in IEEE 802.15.4a / D6

Attachments:
porlik.vcf

Dusan

See my comments in line. Thanks for checking the draft.

Regards

Phil

Dusan Radovic wrote:

>Please give your response to clarify the following:

>

>•
Page 73, line 53, Instead of “Figure 39c” should be “Table 39c”.

>  

>

Yes this looks like a typo that got through the review process

>•
Page 75, Figure 27d, SFD for nominal low rate of 150 Kb/s is not according

>to SFD definition at the page 78. The last two symbols in the Figure 27d

>have wrong sign, should be –Si and Si.

>  

>

The figure appears incorrect. From the text on page 78 we are 

"spreading" the sequence (Si) with the long SFD sequence. So each 1 or 

-1 in the long SFD sequence corresponds to the transmission of the 

sequence 1*(Si) or -1*(Si). The last number in the SFD sequence is +1 

which would give a positive sign and the 22nd number is -1 which would 

give a negative sign. I think you are correct. Thanks!

>•
Page 89, Pulse definition formula and duration. One bracket is misplaced

>in the formula for the referent pulse. Cosine function should contain only

>of the first part, not of whole nominator. With Tp=2ns the pulse r(t),  from

>the formula, has duration of 2ns. The pulse duration is defined at the half

>of its maximum amplitude. From Figure 27m referent pulse r(t) duration,

>defined at the half of the maximal amplitude, is around 1ns. When zero to

>zero duration is measured it is around 2ns.

>  

>

With respect to the bracket you are correct. Regarding the figures I 

need to double check the code used to generate these, please give me a 

day or two to look at it.

>

>Regards,

>Dušan Radovi&#263;

>  

>

From:
Dusan Radovic [dusan.radovic@TESBV.COM]

Sent:
Tuesday, February 13, 2007 11:52 AM

To:
STDS-802-15-4A@listserv.ieee.org

Subject:
[802.15.4A] Possible errors in IEEE 802.15.4a / D6

Please give your response to clarify the following:

•
Page 73, line 53, Instead of “Figure 39c” should be “Table 39c”.

•
Page 75, Figure 27d, SFD for nominal low rate of 150 Kb/s is not according

to SFD definition at the page 78. The last two symbols in the Figure 27d

have wrong sign, should be –Si and Si.

•
Page 89, Pulse definition formula and duration. One bracket is misplaced

in the formula for the referent pulse. Cosine function should contain only

of the first part, not of whole nominator. With Tp=2ns the pulse r(t),  from

the formula, has duration of 2ns. The pulse duration is defined at the half

of its maximum amplitude. From Figure 27m referent pulse r(t) duration,

defined at the half of the maximal amplitude, is around 1ns. When zero to

zero duration is measured it is around 2ns.

Regards,

Dušan Radovi&#263;

From:
Kai Siwiak [k.siwiak@ieee.org]

Sent:
Friday, February 09, 2007 5:36 PM

To:
Jay Bain

Subject:
Re: [802.15.4A] UWB baseband pulse definition?

Hi Jay --- just got a call from your sweetie! She had just arrived in FLL.

All's well, I'm getting ready to go to San Diego for a week.

Cheers

Kai

Jay Bain wrote: 


Kai,


You are about! I hadn’t heard from you for a long time (Hawaii, I think).


I wish that you had been in the sponsor ballot pool on 4a. It would be a better document with your effort.


How is the family? What are you up to?


Regards,


jay

________________________________


From: Kai Siwiak [mailto:k.siwiak@ieee.org] 


Sent: Friday, February 09, 2007 2:23 PM


To: STDS-802-15-4A@listserv.ieee.org


Subject: Re: [802.15.4A] UWB baseband pulse definition?


Dusan, Philip,


Strictly speaking, the equation for r(t) [when corrected as Dusan noted] does not describe a "raised root cosine" filter, but rather a "raised cosine" filter. The "root" notation comes from applications where H(f) is the frequency domain transform of r(t), and the square root of the filter magnitude function is implemented at the transmitter and then again at the receiver end in such a fashion that the product is H(f), hence the "raised root" terminology. This is inapplicable here since the entire filter is at the transmitter (there is no "root"). The notation "root" should be dropped from the description. 


Kai Siwiak


TimeDerivative, Inc.


Philip Orlik wrote: 


Dusan 


It is the half pulse amplitude point.  So for example if Tp = 2 ns then r(-1) = r(1) = r(0)/2. 


Also you are correct about the misplaced bracket ... Thanks for catching that. 


Regards 


Philip Orlik 


Dusan Radovic wrote: 


Hi all, 


Could you clarify the pulse duration given in 6.8a.11.1, Draft 5. 


Is it defined on the half of pulse amplitude or as width of the main lobe 


(from zero to zero)? 


In the same part, in the mathematical description (formula), right medium 


bracket is misplaced should be before the plus sign in the nominator. 


Thank you. 


Regards, 


Dusan Radovic 


TES Electronic Solutions 


Stuttgart 


Germany 

From:
Philip Orlik [porlik@MERL.COM]

Sent:
Friday, February 09, 2007 4:15 PM

To:
STDS-802-15-4A@listserv.ieee.org

Subject:
Re: [802.15.4A] UWB baseband pulse definition?

Attachments:
porlik.vcf

Kai

I believe that the equation for r(t) denotes the impulse response of a 

filter having the Fourier transform, sqrt(H(f)),  where H(f) is the 

frequency domain transform of a raised cosine filter. 

Regards

Phil

Kai Siwiak wrote:

> Dusan, Philip,

> Strictly speaking, the equation for r(t) [when corrected as Dusan 

> noted] does not describe a "raised root cosine" filter, but rather a 

> "raised cosine" filter. The "root" notation comes from applications 

> where H(f) is the frequency domain transform of r(t), and the square 

> root of the filter magnitude function is implemented at the 

> transmitter and then again at the receiver end in such a fashion that 

> the product is H(f), hence the "raised root" terminology. This is 

> inapplicable here since the entire filter is at the transmitter (there 

> is no "root"). The notation "root" should be dropped from the 

> description.

>

> Kai Siwiak

> TimeDerivative, Inc.

>

>

>

> Philip Orlik wrote:

>

>> Dusan

>>

>> It is the half pulse amplitude point.  So for example if Tp = 2 ns 

>> then r(-1) = r(1) = r(0)/2.

>>

>> Also you are correct about the misplaced bracket ... Thanks for 

>> catching that.

>>

>> Regards

>> Philip Orlik

>>

>> Dusan Radovic wrote:

>>

>>> Hi all,

>>>

>>> Could you clarify the pulse duration given in 6.8a.11.1, Draft 5.

>>> Is it defined on the half of pulse amplitude or as width of the main 

>>> lobe

>>> (from zero to zero)?

>>>

>>> In the same part, in the mathematical description (formula), right 

>>> medium

>>> bracket is misplaced should be before the plus sign in the nominator.

>>>

>>> Thank you.

>>>

>>> Regards,

>>> Dusan Radovic

>>>

>>> TES Electronic Solutions

>>> Stuttgart

>>> Germany

>>>  

>>>

From:
Kai Siwiak [k.siwiak@ieee.org]

Sent:
Friday, February 09, 2007 2:23 PM

To:
STDS-802-15-4A@listserv.ieee.org

Subject:
Re: [802.15.4A] UWB baseband pulse definition?

Dusan, Philip,

Strictly speaking, the equation for r(t) [when corrected as Dusan noted] does not describe a "raised root cosine" filter, but rather a "raised cosine" filter. The "root" notation comes from applications where H(f) is the frequency domain transform of r(t), and the square root of the filter magnitude function is implemented at the transmitter and then again at the receiver end in such a fashion that the product is H(f), hence the "raised root" terminology. This is inapplicable here since the entire filter is at the transmitter (there is no "root"). The notation "root" should be dropped from the description. 

Kai Siwiak

TimeDerivative, Inc.

Philip Orlik wrote: 


Dusan 


It is the half pulse amplitude point.  So for example if Tp = 2 ns then r(-1) = r(1) = r(0)/2. 


Also you are correct about the misplaced bracket ... Thanks for catching that. 


Regards 


Philip Orlik 


Dusan Radovic wrote: 



Hi all, 



Could you clarify the pulse duration given in 6.8a.11.1, Draft 5. 



Is it defined on the half of pulse amplitude or as width of the main lobe 



(from zero to zero)? 



In the same part, in the mathematical description (formula), right medium 



bracket is misplaced should be before the plus sign in the nominator. 



Thank you. 



Regards, 



Dusan Radovic 



TES Electronic Solutions 



Stuttgart 



Germany 

From:
Philip Orlik [porlik@MERL.COM]

Sent:
Friday, February 09, 2007 11:54 AM

To:
STDS-802-15-4A@listserv.ieee.org

Subject:
Re: [802.15.4A] UWB baseband pulse definition?

Attachments:
porlik.vcf

Dusan

It is the half pulse amplitude point.  So for example if Tp = 2 ns then 

r(-1) = r(1) = r(0)/2.

Also you are correct about the misplaced bracket ... Thanks for catching 

that.

Regards

Philip Orlik

Dusan Radovic wrote:

>Hi all,

>

>Could you clarify the pulse duration given in 6.8a.11.1, Draft 5.

>Is it defined on the half of pulse amplitude or as width of the main lobe

>(from zero to zero)?

>

>In the same part, in the mathematical description (formula), right medium

>bracket is misplaced should be before the plus sign in the nominator.

>

>Thank you.

>

>Regards,

>Dusan Radovic

>

>TES Electronic Solutions

>Stuttgart

>Germany

>  

>

From:
Dusan Radovic [dusan.radovic@TESBV.COM]

Sent:
Friday, February 09, 2007 3:37 AM

To:
STDS-802-15-4A@listserv.ieee.org

Subject:
[802.15.4A] UWB baseband pulse definition?

Hi all,

Could you clarify the pulse duration given in 6.8a.11.1, Draft 5.

Is it defined on the half of pulse amplitude or as width of the main lobe

(from zero to zero)?

In the same part, in the mathematical description (formula), right medium

bracket is misplaced should be before the plus sign in the nominator.

Thank you.

Regards,

Dusan Radovic

TES Electronic Solutions

Stuttgart

Germany

From:
Pat Kinney [pat.kinney@yahoo.com] on behalf of Pat Kinney [pat.kinney@ieee.org]

Sent:
Friday, January 12, 2007 4:24 PM

To:
'Vern Brethour'; 'Zafer Sahinoglu'

Cc:
'Jay Bain'; 'Philip Orlik'

Subject:
RE: Question on  Draft 6, 7.4.2 equation 14b

the questions are:

if someone follows the standard will it work?

answers range from yes to no with maybe being the typical answer.

If maybe: this sounds like it could be resolved with an interpretation.  An

interpretation is an official statement from IEEE and would be cleaned up

with the next 15.4 revision.

Sound OK?

  _____  

From: Vern Brethour [mailto:vern.brethour@timedomain.com] 

Sent: Friday, January 12, 2007 3:37 PM

To: Pat Kinney; Zafer Sahinoglu

Cc: Jay Bain; Philip Orlik

Subject: RE: Question on Draft 6, 7.4.2 equation 14b

Okay thanks Zafer, 

You are raising a larger issue than just one equation.... the bigger

question being: How should we deal with "errata" when we are in this weird

state of "approved" but un-published.  My inclination would be the obvious:

If we know it's broken and we know how to fix it, then for goodness sake,

fix it!  The only little sticky point is that it was approved in the broken

state.  That all gets stranger when we note that the "approve in the broken

state" was done by a grand total of 4 voters on the re-circulation.  So if

so few people care.... will anyone care if we fix it?

That's why we have a Chair.  

This is Pat's queue to jump in to this thread with the Wisdom of Solomon and

say "fix it". 

Vern 

-----Original Message----- 

From: Zafer Sahinoglu [mailto:zafer@merl.com] 

Sent: Friday, January 12, 2007 3:31 PM 

To: Vern Brethour 

Cc: Jay Bain; Philip Orlik; Pat Kinney 

Subject: Re: Question on Draft 6, 7.4.2 equation 14b 

Hi Vern, 

No problem, I was starting to think that you were upset with me for some 

reason :). I will not be in London, but I am available for you 24/7 for 

help. 

According to my calculation 14b should be 

macMaxFrameTotalWaitTime = phyMaxFrameDuration/Tsymbol +LIFS  (14b) 

best regards 

Zafer 

Vern Brethour wrote: 

> Sorry Zafer, 

> 

> I haven't had time to even look at this issue.  I printed it out and 

> will look at it on the plane.  We will need some guidance about making 

> changes to things that are wrong, but have no comments placed against 

> them by the sponsor voters of the recirculation. 

> 

> Will you be in London? 

> 

> Vern 

> 

> -----Original Message----- 

> From: Zafer Sahinoglu [mailto:zafer@merl.com] 

> Sent: Tuesday, January 09, 2007 2:07 PM 

> To: Jay Bain; Vern Brethour; Philip Orlik; Pat Kinney 

> Subject: Question on Draft 6, 7.4.2 equation 14b 

> 

> Dear Jay, Vern 

> 

> While going through draft D6, I have noticed that equation 14b does not 

> make much sense as it stands, which is 

> 

> macMaxFrameTotalWaitTime = phyMaxFrameDuration/Tsymbol (14b) 

> 

> This wait time is only equal to the max packet duration in number of 

> preamble symbols. 

> 

> I think 14b should factor in the turn around time as well. What do you 

> think? 

> 

> best regards 

> Zafer 

> 

From:
Vern Brethour [vern.brethour@timedomain.com]

Sent:
Friday, January 12, 2007 3:37 PM

To:
Pat Kinney; Zafer Sahinoglu

Cc:
Jay Bain; Philip Orlik

Subject:
RE: Question on  Draft 6, 7.4.2 equation 14b

Okay thanks Zafer,

You are raising a larger issue than just one equation.... the bigger

question being: How should we deal with "errata" when we are in this weird

state of "approved" but un-published.  My inclination would be the obvious:

If we know it's broken and we know how to fix it, then for goodness sake,

fix it!  The only little sticky point is that it was approved in the broken

state.  That all gets stranger when we note that the "approve in the broken

state" was done by a grand total of 4 voters on the re-circulation.  So if

so few people care.... will anyone care if we fix it?

That's why we have a Chair.  

This is Pat's queue to jump in to this thread with the Wisdom of Solomon and

say "fix it".

Vern

-----Original Message-----

From: Zafer Sahinoglu [mailto:zafer@merl.com] 

Sent: Friday, January 12, 2007 3:31 PM

To: Vern Brethour

Cc: Jay Bain; Philip Orlik; Pat Kinney

Subject: Re: Question on Draft 6, 7.4.2 equation 14b

Hi Vern,

No problem, I was starting to think that you were upset with me for some 

reason :). I will not be in London, but I am available for you 24/7 for 

help.

According to my calculation 14b should be

macMaxFrameTotalWaitTime = phyMaxFrameDuration/Tsymbol +LIFS  (14b)

best regards

Zafer

Vern Brethour wrote:

> Sorry Zafer,

>

> I haven't had time to even look at this issue.  I printed it out and 

> will look at it on the plane.  We will need some guidance about making 

> changes to things that are wrong, but have no comments placed against 

> them by the sponsor voters of the recirculation.

>

> Will you be in London?

>

> Vern

>

> -----Original Message-----

> From: Zafer Sahinoglu [mailto:zafer@merl.com]

> Sent: Tuesday, January 09, 2007 2:07 PM

> To: Jay Bain; Vern Brethour; Philip Orlik; Pat Kinney

> Subject: Question on Draft 6, 7.4.2 equation 14b

>

> Dear Jay, Vern

>

> While going through draft D6, I have noticed that equation 14b does not

> make much sense as it stands, which is

>

> macMaxFrameTotalWaitTime = phyMaxFrameDuration/Tsymbol (14b)

>

> This wait time is only equal to the max packet duration in number of

> preamble symbols.

>

> I think 14b should factor in the turn around time as well. What do you

> think?

>

> best regards

> Zafer

>

From:
Zafer Sahinoglu [zafer@merl.com]

Sent:
Friday, January 12, 2007 3:31 PM

To:
Vern Brethour

Cc:
Jay Bain; Philip Orlik; Pat Kinney

Subject:
Re: Question on  Draft 6, 7.4.2 equation 14b

Hi Vern,

No problem, I was starting to think that you were upset with me for some 

reason :). I will not be in London, but I am available for you 24/7 for 

help.

According to my calculation 14b should be

macMaxFrameTotalWaitTime = phyMaxFrameDuration/Tsymbol +LIFS  (14b)

best regards

Zafer

Vern Brethour wrote:

> Sorry Zafer,

>

> I haven't had time to even look at this issue.  I printed it out and 

> will look at it on the plane.  We will need some guidance about making 

> changes to things that are wrong, but have no comments placed against 

> them by the sponsor voters of the recirculation.

>

> Will you be in London?

>

> Vern

>

> -----Original Message-----

> From: Zafer Sahinoglu [mailto:zafer@merl.com]

> Sent: Tuesday, January 09, 2007 2:07 PM

> To: Jay Bain; Vern Brethour; Philip Orlik; Pat Kinney

> Subject: Question on Draft 6, 7.4.2 equation 14b

>

> Dear Jay, Vern

>

> While going through draft D6, I have noticed that equation 14b does not

> make much sense as it stands, which is

>

> macMaxFrameTotalWaitTime = phyMaxFrameDuration/Tsymbol (14b)

>

> This wait time is only equal to the max packet duration in number of

> preamble symbols.

>

> I think 14b should factor in the turn around time as well. What do you

> think?

>

> best regards

> Zafer

>

From:
Vern Brethour [vern.brethour@timedomain.com]

Sent:
Friday, January 12, 2007 2:56 PM

To:
Zafer Sahinoglu; Jay Bain; Philip Orlik; Pat Kinney

Subject:
RE: Question on  Draft 6, 7.4.2 equation 14b

Sorry Zafer,

I haven't had time to even look at this issue.  I printed it out and will

look at it on the plane.  We will need some guidance about making changes to

things that are wrong, but have no comments placed against them by the

sponsor voters of the recirculation.

Will you be in London?

Vern

-----Original Message-----

From: Zafer Sahinoglu [mailto:zafer@merl.com] 

Sent: Tuesday, January 09, 2007 2:07 PM

To: Jay Bain; Vern Brethour; Philip Orlik; Pat Kinney

Subject: Question on Draft 6, 7.4.2 equation 14b

Dear Jay, Vern

While going through draft D6, I have noticed that equation 14b does not 

make much sense as it stands, which is

macMaxFrameTotalWaitTime = phyMaxFrameDuration/Tsymbol (14b)

This wait time is only equal to the max packet duration in number of 

preamble symbols.

I think 14b should factor in the turn around time as well. What do you 

think?

best regards

Zafer

From:
Zafer Sahinoglu [zafer@merl.com]

Sent:
Tuesday, January 09, 2007 2:07 PM

To:
Jay Bain; Vern Brethour; Philip Orlik; Pat Kinney

Subject:
Question on  Draft 6, 7.4.2 equation 14b

Dear Jay, Vern

While going through draft D6, I have noticed that equation 14b does not 

make much sense as it stands, which is

macMaxFrameTotalWaitTime = phyMaxFrameDuration/Tsymbol (14b)

This wait time is only equal to the max packet duration in number of 

preamble symbols.

I think 14b should factor in the turn around time as well. What do you 

think?

best regards

Zafer

Submission
Page 

D. Kawaguchi, Symbol Technologies
Submission
Page 

James D. Allen, Arkados


_1235377325.unknown

